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=R K 41142 83| 140 | 690 AE 51 |RE f&— 48 | 50 | 98 | 14.0 | 84.0
HR BFF 44 143 |87 | 17.0| 700 |[AE/IN*v +345] 52 |HR #EF 50 | 52 |102 | 18.0 | 84.0

SO LI IE— 40 | 41 81| 11.0| 700 |]AE/IN*v +355| 53 |BEF KN 46 | 49 | 95| 11.0 | 840

4 T - 37139 76| 6.0]| 70.0 BG/IN®w ~36 b4 NIE E=x 50 | 54 |104 | 20.0 | 84.0

5 |& Ui 41| 44 | 85| 160 | 70.0 |IN®&w r36.5 55 | KA 53 | 48 |101 | 15.0 | 86.0

6 |EEk R 41 141182 110|710 56 |AIE EEx 46 | 46 | 92| 6.0 | 86.0

7 mH #®X 38 | 4583|120 | 710 57 |#& —3% 52 | 50 |102 | 15.0 | 87.0

8 |EEf FRK 37|43 80| 80/ 720 58 |#AH ¥ 53 | 562 |105 | 17.0 | 88.0

9 &l ® 39|48 | 87 | 156.0 | 72.0 59 |InpE /E 56 | 49 |104 | 15.0 | 89.0

10 |8 =2 42 1 40 | 82| 9.0| 730 60 | =% X 521 47 1 99| 9.0 90.0

1 na =¥ 43 | 43 | 86| 13.0 | 730 61 |#B f8— 50 | 48 | 98 | 8.0 | 90.0

12 |Blg BA 40 | 44 | 84 | 11.0| 73.0 62 =iE TiE 51 | b4 105 | 140 | 91.0

13 |5Fm &R 37147184110 730 63 |ATL SAF 51| 58 |109 | 18.0 | 91.0

4 ‘MR & 47 140 | 87| 13.0 | 740 64 |HZRIL E= 53 | 52 |106 | 12.0 | 93.0

15 £k K1F 42 | 42 | 84| 10.0 | 740

16 /MU B 44 | 44 | 88 | 140 | 740 ERE G FiE 52 | 52 {104 | 14.0 | 90.0 |@i[E [2023.8]

17 1§ BEx 43 | 44 | 87 | 13.0| 740

18 |"AH = 45 140 | 85| 10.0 | 75.0

19 | ES 41141182 70| 750

20 |2k B 49 | 42 | 91 | 16,0 | 76.0

21 |5 B 46 | 41 | 87| 11.0 | 76.0

22 |ILI'F ABA 46 | 42 | 88 | 120 | 76.0

23 |FEAR E#R 46 | 47 | 93 | 17.0| 76.0

24 |BREH K= 43 143186 | 90 770

25 /NEFE  FNEA 40 | 42 1 82| 50| 770

26 |\ XTI 44 | 46 | 90 | 13.0| 77.0

27 |xXH # 43 | 46 | 89 | 12.0| 770

28 Rl HE 50 | 45| 95| 170 | 780

29 |l E— 45| 42 | 87| 9.0 780

30 |[XJII IEE— 44 1 42 | 86| 8.0 | 780

31 Pk IEfR 43 142 | 85| 7.0]| 780

32 |&F =B 39 |43 |182| 40780

33 |#iEF PBAA 38 | 45| 83| 50| 780

34 |kt His 46 | 46 | 92| 13.0 | 79.0

3B KE A 42 1 42 | 84 | 50| 79.0

36 | EH % 41 143 |1 84| 50| 790

37 |FE MHX 44 1 48 | 92 | 13.0| 79.0

38 |hE f— 45149 | 94 | 140 800

39 AR ERF 49 | 52 |101 | 20.0 | 81.0

40 |7/ X5B 41147 88| 7.0/ 810

41 K E=x 46 | 54 [100 | 19.0 | 81.0

42 1IE HE 44 1 48 | 92| 10.0 | 820

43 |FK K 44 150 | 94 | 120 | 820

44 |BH FxX 44 1 53 | 97 | 15.0| 820

45 |[HH & 50 | 48 | 98 | 156.0 | 83.0

46 | KT Bt 46 | 52 | 98 | 16.0 | 83.0

47 |HE TR 44 1 53 | 97 | 140 | 83.0

48 ‘B IEF 51141192 | 80| 840

49 |/NEy  HiF 53 | 48 |101 | 17.0 | 84.0

50 MEE BE 46 | 43 | 89| 50 840
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